

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/13/2025 1:51:59 PM

Parcel ID: Document: Document Date: Plat Name: Section 2 Description: Taxpayer Name and Address: Owner Name Owner Name	LOT 1 EX E	45791 Le ownship 50 1/3 LEROY C & DA E RD N 55779 RLA N	Taxpayer D	Range 17		Lot -		Block -		
Document Date: Plat Name: Section 2 Description: Taxpayer Name and Address: Owner Name	03/09/2007 BREVATOR T LOT 1 EX E PETERSON 7330 SEVILL SAGINAW M HENNEN KA	Le ownship 50 1/3 LEROY C & DA E RD N 55779 RLA N	Taxpayer D RLA	Range 17		Lot -		Block -		
Plat Name: Section 2 Description: Taxpayer Name and Address: Owner Name	BREVATOR T LOT 1 EX E PETERSON 7330 SEVILL SAGINAW M HENNEN KA	ownship 50 1/3 LEROY C & DA E RD N 55779 RLA N	Taxpayer D RLA	Range 17		Lot -		Block -		
Section 2 Description: Taxpayer Name and Address: Owner Name	T LOT 1 EX E PETERSON 7330 SEVILL SAGINAW M HENNEN KA	ownship 50 1/3 LEROY C & DA E RD N 55779 RLA N	Taxpayer D RLA	Range 17		Lot -		Block -		
Section 2 Description: Taxpayer Name and Address:	T LOT 1 EX E PETERSON 7330 SEVILL SAGINAW M HENNEN KA	ownship 50 1/3 LEROY C & DA E RD N 55779 RLA N	Taxpayer D RLA	17		Lot -		Block -		
2 Description: Taxpayer Name and Address: Owner Name	LOT 1 EX E PETERSON 7330 SEVILL SAGINAW M HENNEN KA	50 1/3 LEROY C & DA E RD N 55779 RLA N	Taxpayer D RLA	17		Lot -		Block -		
Description: Taxpayer Name and Address: Owner Name	PETERSON 7330 SEVILL SAGINAW M HENNEN KA	1/3 LEROY C & DA E RD N 55779 RLA N	RLA			-		-		
Taxpayer Name and Address: Owner Name	PETERSON 7330 SEVILL SAGINAW M HENNEN KA	LEROY C & DA E RD N 55779 RLA N	RLA	etails						
and Address: Owner Name	7330 SEVILL SAGINAW M HENNEN KA	E RD N 55779 RLA N	RLA	oetails						
and Address: Owner Name	7330 SEVILL SAGINAW M HENNEN KA	E RD N 55779 RLA N								
Owner Name	SAGINAW M HENNEN KA	N 55779 RLA N	Owner De							
	HENNEN KA	RLA N	Owner De							
			Owner De							
				taile						
				allo						
		CHAEL A								
			able 2025 Ta	x Summarv						
	2025 - N			,	ç	\$5,671.00				
			-							
	2025 - Specia			al Assessments			\$85.00			
	2025 -	Special Asse	essments		\$5,756.00					
		Curren	t Tax Due (as	s of 5/12/202	5)					
Due	May 15	1	、 Due Octo		<i>′</i>		Total Due			
Due May 15										
2025 - 1st Half Tax	\$2,878.0	0 2025 - 2	2025 - 2nd Half Tax		78.00	2025 - 1st Half Tax Due		\$0.00		
2025 - 1st Half Tax Paid \$2,878.00		0 2025 - 2	2025 - 2nd Half Tax Paid \$0.00		\$0.00	2025 - 2nd Half Tax Due		\$2,878.00		
2025 - 1st Half Due \$0.00		0 2025 - 2	2025 - 2nd Half Due \$2,878.00			2025 - Total Due		\$2,878.00		
	40.0				10.00	2020		φ2,010.00		
Duououtus Aslalaooos	7220 05////		Parcel De	talls						
Property Address: School District:	E RD, SAGINA	VV IVIIN								
Tax Increment District	2142									
Property/Homesteade										
roperty/romesteade			ent Details (20)25 Pavable	2026)					
Class Code	Homestead	Land	Bldg	Total	Def	Land	Def Bldg	Net Tax		
	Status /ner Homestead	EMV \$50,100	EMV \$189,600	EMV \$239,700	1	MV \$0	EMV \$0	Capacity -		
	0% total) n Homestead	¢12 500	¢n	¢12 500		0.4	\$0			
	n Homestead	\$12,500 \$6,900	\$0 \$12,500 \$311,800 \$318,700		-	\$0 \$0 \$0 \$0		-		
Total:		\$69,500 \$69,500		\$501,400 \$570,900		\$0 \$0 \$0 \$0		6256		
	Total.	φ 0 3,300	4301,400	<i>4310,300</i>		βU	ΨŪ	0230		



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/13/2025 1:51:59 PM

			Land D	otoilo					
			Land D	etalls					
Deeded Acres:	20.45								
Waterfront:	-								
Water Front Feet:	0.00								
Water Code & Desc:	W - DRILLED WELL								
Gas Code & Desc:	-								
Sewer Code & Desc:	S - ON-SITE SANIT	ARY SYSTE	M						
Lot Width:	0.00								
Lot Depth:	0.00								
The dimensions shown are n	not guaranteed to be surv	ey quality. A	dditional lot	information can b	e found at				
https://apps.stlouiscountymn						ax@stlouiscountymn.gov.			
	lı	nprovem	ent 1 De	tails (PARENT	'S')				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	1998	1,26	1	1,261	-	RAM - RAMBL/RNCH			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	0	0	1,261	-				
OP	1	10	13	130	-				
Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC			
1.5 BATHS	2 BEDROOMS		-		0	CENTRAL, ELECTRIC			
Improvement 2 Details (ATTACHED)									
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	1998	345		345	-	ATTACHED			
Segment	Story	Width	Length		Founda				
BAS	1	15	23	345					
DAO	I	10	25	545					
	Im	proveme	nt 3 Deta	ils (DAUGHTE	R'S)				
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.				
HOUSE	1930	2,44	2	3,798	U Quality / 0 Ft ² 2S - 2 ST				
Segment	Story	Width	Length	Area	Foundation				
BAS	1	0	0	1,086	BASEMENT WITH EXT	ERIOR ENTRANCE			
BAS	2	0	0	1,356	BASEMENT WITH EXT	ERIOR ENTRANCE			
OP	1	0	0	445	PIERS AND F	OOTINGS			
OP	1	6	18	108	PIERS AND F	OOTINGS			
Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC			
1.75 BATHS	3 BEDROOMS		-		. 0	CENTRAL, FUEL OIL			
	I	mprovom	ont 4 Do	tails (26X36 D	C)	·			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	1994	936		936	basement rinish	DETACHED			
		Width			- Founda				
Segment	Story		Length		Foundation FLOATING SLAB				
BAS 1 26 36 936 FLOATING SLAB									
	Ir	nprovem	ent 5 Det	ails (RED BAF	RN)				
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
BARN	1930	1,98	8	1,988	-	-			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	28	71	1,988	SHALLOW FOU	JNDATION			
LT	1	12	14	168	FLOATING	SLAB			





St. Louis County, Minnesota

		Improvem	ent 6 Details (1	2X15 SHED)					
Improvement Type Year Built		Main Flo	oor Ft ² Gross	Area Ft ² Bas	asement Finish		Style Code & Desc.		
STORAGE BUILDIN	E BUILDING 1955		80	180	-		-		
Segment Story		Width	Length	Area	Foundation				
BAS	1	12	15	180	POST ON G	ROUND			
		Improveme	ent 7 Details (W	/HITE SHED)					
	Improvement Type Year Built			Area Ft ² Bas	sement Finish	Style	Style Code & Desc.		
STORAGE BUILDIN		15	158		-		-		
Segmen	t Story		Length	Area	Foundation				
BAS 1		6	10	60	POST ON GROUND				
BAS	1	7	14	98	POST ON G	POST ON GROUND			
	5	Sales Reported	to the St. Loui	s County Audito	or				
No Sales informat	ion reported.								
		A	ssessment His	tory					
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
2024 Payable 2025	201	\$50,100	\$184,700	\$234,800	\$0	\$0	-		
	111	\$12,500	\$0	\$12,500	\$0	\$0	-		
	207	\$6,900	\$303,600	\$310,500	\$0	\$0	-		
	Total	\$69,500	\$488,300	\$557,800	\$0	\$0	0 6,100.00		
2023 Payable 2024	201	\$43,300	\$167,600	\$210,900	\$0	\$0	-		
	111	\$10,500	\$0	\$10,500	\$0	\$0	-		
	207	\$6,400	\$277,000	\$283,400	\$0	\$0	-		
	Total	\$60,200	\$444,600	\$504,800	\$0	\$0	0 5,574.00		
2022 Payable 2023	201	\$34,200	\$158,400	\$192,600	\$0	\$0	-		
	111	\$11,100	\$0	\$11,100	\$0	\$0	-		
	207	\$6,200	\$220,800	\$227,000	\$0	\$0	\$0 -		
	Total	\$51,500	\$379,200	\$430,700	\$0	\$0	4,676.00		
2021 Payable 2022	201	\$34,200	\$151,600	\$185,800	\$0	\$0	-		
	111	\$11,100	\$0	\$11,100	\$0	\$0	-		
	207	\$6,200	\$211,400	\$217,600	\$0	\$0	-		
	Total	\$51,500	\$363,000	\$414,500	\$0	\$0	4,484.00		
			Fax Detail Histo	ory					
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land M		Taxable Building MV Total 1			
2024	\$5,457.00	\$85.00	\$5,542.00	\$56,451	\$430,090	0	\$486,541		
2023	\$4,971.00	\$85.00	\$5,056.00	\$47,965	\$362,829	Э	\$410,794		
2022	\$5,411.00	\$85.00	\$5,496.00	\$47,723	\$346,259	9	\$393,982		



PROPERTY DETAILS REPORT





Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.